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INSTRUCTIONS FOR THE CANDIDATES

1. This question paper is in two parts.

2. Part — I is related to Reasoning Test which
consists of 30 questions.

3. Part - II relates to Scholastic Aptitude Test
which consists of 120 questions relating to
six subjects listed below :

(1) Mathematics : 30
(@) Sejence 2 30
(3) Social Studies ; 30
(4) Punjabi : 10
(5) English : 10
: (6) Hindi Al
I 4. Each question carries one mark. All questions
J ' are compulsory.

5. You have been provided an Answer Sheet
(OMR) for this question booklet. Darken the
circle of correct option of each question in the
answer sheet (OMR) with black/blue ball pen.

6. Rough work may be done on the blank space
provided for this purpose.

7. There is no negative marking in this test.

8. Do not use white fluid on Answer Sheet (OMR).
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PART -1 : REASONING TEST

REASONING (VERBAL & NON-VERBAL) (dtaf&ar)

Directions : In each one of the following question, choose the correct water image of the figure
(X) from amongst the four alternative (a), (b), (¢), (d) given along with it.

femr fseew : 3 fefint yast &, fen @ &7 &3 @ feawmut (a), (b), (c), (d) feF 39 (X) &

ot Hiet 99T 991
1. Question Figure Yyms fa'ge

L
PIPTTTI7I7777777

X)
(A) a
e

2. Question Figure Yw& fo39

P

X)
(A) a

777

PI?779777777777.

{C) c

Answer Figure €37 fa'ge

sah 2 v A s v
(a) (b) (c) (d
B) b
D) d

Answer Figure €37 fg'39

DJ PP

(a) (b) () (d)
B) b
D) d

In the Question No. 3 and 4 a piece of paper is folded and cut as given below, indicate how it

will appear when opened.

yEs 3 W3 4 &9 g9m € ga= § " famrr 3§ w3 dfenr fom 3, aom § g8 3

fa fedar feg €R|
3. Question Figure Y& fg'3q

Answer Figure €37 fe'39

o P o <
D EERI% e e
Q.2 s o <
() (®) (© @
(A) a B) b
" © c D) d
MB; ‘ {M-X1-24} 3}
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4.

Question Figure yma fg'39 Answer Figure €39 fe'39

SEEEC 000

() (b) (c) (d)

A) a ®) b
©) ¢ D) d

Ig Question No. 5 - 6, the following figure, arranged as according to row wise or column wise.
Find the missing ‘?" figure from (a) (b) (c) and (d).

YEs (5-6) €9 wrigfamt & agm9 A a@w &g sarfewr fapr 3, (a) (b) (c) 3 (d)
migst feg 7 wnfaat 351

Question Figure Yn& fg39 Answer Figure €39 fg'39
o |% ¢« ‘o o|/o oo e
e € e (o o
ee| ? Ol ® 6 &6 0 0 o
(a) i) (D)
(A) a B) b
©) ¢ D) d
Question Figure YA& fg39 Answer Figure €39 fo'gg

Tk <X

?
(@) (b) (©) (d)
(A) a B) b
© ¢ D) d

Directions Question No. 7 - 8 : In each of the following questions a part of questions figure is
missing. Choose the correct answer figure to complete the question figure that can replace ‘7.
fewr fsgem yas 7-8 : Jof &3 399 yrs <9 939 e ffq g1 3uz 3| 53 fegmut
&< ndt feasy €1 < a9 fAn a& mifmr 939 yar 7 7<)
Question Figure Answer Figure
yrs fesg CECACES)

@ ® @© @

X)
A a B) b
© ¢ D) d

{4}

{M-XI-24} Set ‘B’
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8. Question Figure Ym& fa'39 Answer Figure €39 939

? @ ® ©

(A) a B) b
©) c D) d

Directions : In Question No. 9-10, fig. (X) is embedded in any one of the four alternative figure
(a), (b), (c) or (d). Find the alternative which contains fig (X) as its part.

f:enrﬁm@aitpax 9.10 f¥37 (X), Iat 9 439 (a), (b), () AF (d) <= Ffeprr Ifen
31 uzT 3¢ 939 (X), fam ff9 91

g v [ 3
9.
X) (a) (b) (©) (d)
(A) a ®) b
©) ¢ D) d
A AA | DA
e g &|1®| 0|10
X) (a) (b) (c) (d)
A a ®) b
©) c D) d
11. Find the No. of triangles in the given figure.
fog fogq f<u fagar < Afewr 3T ad|
A 4 ®B) 5
© 6 ®y'7

. Four positions of a dice are shown below. Which number is opposite to 3 ?
fér U it 979 AfEIT fSut g5 | A 3 € feudts faaaT wd wr=ar?

’

®B) 2
D) 6

e | {5}

54 )
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13. Directions : Figure (4) holds same relation with figure (3) just as figure (2) holds relation with figure
(1). Search the question figure no. (4) out of given answer from (a) to (d).
four f5gew : fge (2) o & FaT fge (1) 575 I 6Tt i3 (4) v f¥3e (3) a8 71 feé3
% €39 f¥39 (a) F (d) &5 Q0 fS39 &9 7 (4) 3 Ifepr™ 77 A |

Question Figure Yu& fe'3g Answer Figure €339 fo39
r-’ L o o 3 =
B i ? Il AT ]
(1) 2 3) 4) (a) (b) (c) (d)
(A) a B) b
©) ¢ D) d

14. Directions : Choose the correct water image of the figure (X) from amongst the four alternative
(a), (b), (¢), (d) given along with it.
ferr fowen : 3o fob yrs &3, fer € 578 &3 979 fea®u™ (a), (b), (), (d) f&9° 937 (X)
& {dt uret faga g< -

X) (a) (b) (©) (d)
(A) a @B) b
©) c D) d

15. From amongst the figures marked (a), (b), (c), (d) select the figure which satisfies the conditions
of placement of the dots as in figure (X).

oSttt arehut arf@atat (a), (b), (o), (@) 3T, Qo wrfgat g 7 XY s
= oesamn ol ISt (X) wawe fig

N [

X)
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Directions : In each of the following questions, complete the series as pattern given.
fewr fsaen : 35 3 999 yns f&w, &=t 7 OF Uegs § At 94, yar aq|
W 7,12, 19,28, ...

(A) 30 B) 36

(C) 39 (D) 49

T 12, 19,28, ...

(A) 30 B) 36

() 39 D) 49
17. CAE, HFJ, MKO, RPT, ....

A) WUY @®) UTY

(©) vuzZ D) WUZ

CAE, HFJ, MKO, RPT, ....

(A) WUY . B) UTY

(C) VUZ (D) WUZ

Directions : In Question No. 18-19 Complete the following Analogy
fenr fogew yAs 18-19 : 35 fEst mssT § yar a9 ¢
18. Moon : Satellite :: Earth : ....

(A) Sun (B) Planet

(C) Solar System (D) Asteroid

FoonT : Gyarfo = TaSt: ...

(A) HaH ®) afa

(C) AT 3% D) Ssafuz
19. Rupee:India:: Yen: ... ]

(A) Turkey (B) Bangladesh

(C) Japan (D) Pakistan

gﬁlﬂf" :gEI L WS ;...

(A) gaat B) HEEH

(€) AUS D) ufar3s
20. Joule is related to Energy in the same way as Pascal is related to ........... ;

(A) Volume ‘(B) Pressure

(D) Parity
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21. In a certain code, TELEPHONE is written as ENOHPELET. How is ALIGATOR written in same
(A) ROATGILA : (B) ROTAGAIL
(C) ROTAGILE (D) ROTAGILA
foit w7 & gmar fé9 TELEPHONE & ENOHPELET fafin™ wter §, 6% g3 gy g
ALIGATOR § fa= fafimt mraar?
(A) ROATGILA (B) ROTAGAIL
(C) ROTAGILE (D) ROTAGILA
Iinsﬂ:ebroﬁier‘efmesonon’s,howfmeMﬁﬂ' ~
(A) Son gir k s
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26. Mohan ranks seventh from the top & twenty sixth from the bottom in a class. How many students 1

a5 A3 féw OuT WaR maTs 3 § w3 38 eiR mavs 3 T &R v fé (43 fefenradt

are there in the class?

(A) 31 @) %
(C) 33 (D) 34
IJ&57

(A) 31 (B) 32
© 33 D) 34

27. Ram is elder than Shyam. Lakshman is elder than Shyam, but not younger than Ram. Hanuman is
younger than both Hari and Shyam. Shyam is elder than Hari. Who is the youngest?

(A) Ram

(C) Hanuman

(B) Lakshman
(D) Hari

Eva &g o, n 3 37 31 BaES, AY T ¥37 T ug o T 8¢ T Is, 39 M3 A
S FETTIAN, TR FSF I AT F ET dT I?

3 Gmr a2 I, 99T Geuaw’ I, ‘Gow® ‘Wew’ I, ‘Wew’ ‘¥F I, ‘g A’ I, 3 EH

(A) I (B) HAMHE
(C) IaHs D) Tdt
28. If ‘bat’ is ‘racket’, ‘racket’ is “football’, “football’ is ‘shuttle’, ‘shuttle’ is ‘luddo’, and ‘luddo’ is ‘carrom’.
What is cricket played with?
(A) Racket (B) Football
(C) Bat (D) Shuttle
fagae faw &% afswt Arer 37
(A) Jae B) g
(C) &&" (D) "e&
29. Selectthe ? from the given responses.
fe3 feamur fég ? T
15 2295530
7 70 20
3 ? 8
(A) 70 B) 12
©) 16 (D) 24

6

30. Selectthe ? from the given responses.
3 feamut f&8 1 TEI

L &‘ (k21

16

13

12

9

X PO L TR R o
I Rt (LI Ly
BTSSR i
e ; AP S SRR

Ry
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PART - II : SCHOLASTIC APTITUDE TEST
MATHEMATICS (aif3)

31. The next term of A.P, J§ \/ﬁ, \/ﬁ, ..... is

@A) 52 B) 53
© 33 @) 3.5
Ha IfEIT /8, /18, 32, ..... & warsT yw far a7
(A 52 B 53
33 ®) 35
32. Which of the following is not the value of cot (°?

1 cos0
A o
&) tan 0° sin0 T 5
cot 0° & faoat v® =4t 37

1 cos0

0 o

&) tan 0° sin0 © ®)

33. The perimeter of a circle is equal to that of square, then the ratio of their area is

A) 22:7 ®B) 14:11

(C) 7 2 @)1l :14

HAJ9 Tdd M3 TI9T € UfoHy §9799 T& 3, fegst € 439est o wigus I=ar
(A) 22:7 B) 14:11

@ 7:12 @) 11:14

34. The Rectangular sheet of dimension 4 cm x 2 cm. Biggest circle is drawn from it. What is area of
rest of the sheet?

(A) (16 x m) cm? B) (16 - 4m) cm?

(C) (8 —m) cm? : (D) (8 - 4m) cm?

wifegad /e 4 cm x 2 cm 9 3 3 37 999 g7 & Tt Hiw ©r i=9em o T2
(A) (16 x T) cm? B) (16 — 4m) cm?

(C) (8 — ) cm? D) (8 —4m) cm?

35. The radius of wire is decreased to one-third and its volume remains the same. The new length is
how many times the original length?
(A) 1time (B) 3 times
(C) 6 times (D) 9 times
féqr 379 & #9U o fa famrdt a9 féam fomr 3, w3 wrfegs mrs 31 o9 o o=t
get fgs geT =T A=<t

(A) 1 TIET B) 3 =T
(C) 6 TeET (D) 9 =T
{10} {M‘XI'24} Set -B’
4 R — E 4
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36. Find the value of x.

(A) 60 B) 50 g
(C) 100 D) 40
x T HE U3T I3 |
(A) 60 B) 50 X 110°
(C) 100 D) 40
37. If P% of P is 36 then P is equal to
(A) 15 B) 60
(©) 600 D) 3600
Had P & P%, 36 § 3 P €T i& UIT 9|
A) 15 B) 60
(©) 600 D) 3600
38 2" = o3 then the value of n is
A) 3 ®) 2
© 0 D) 2
Aag 2 = o 3T n € U ST
A 3 ®) 2
© 0 D) -2
39. What is the probability of 53 Thursday in a leap year?
A 0 , ®) 1
1 2
© 7 D) 7
iy & 7w & 53 Saeg W & fe=ar &t 97
A 0 ®) 1
1 2
© % B
40. The product of two number is 45 and sum of their square is 106. Find the numbers.
A 3,5 (B) .3, 9
©) 5,19 D) 45,1
fog & ffipurat & greT 45 3 M3 Qust € =99 T AS 106 32 I Afprret U3T J9 |
A) 3,5 ®B) 5,9
@) 5, 19 (D) 45,1
Set ‘B’ {M-XI-24} {11}

a
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45. Select the least number that is divisible by all number from 1 to 10.

(A) 2520 (B) 5040
(C) 1010 (D) 2020
et fex wfadt &<t 3 &t Afu ¥R A fa 1 3 10 A9 #aT &% ga1 T A= |
(A) 2520 (B) 5040
(C) 1010 (D) 2020
46. The H.C.F. of two numbers a & b is 5 and their L.C.M. is 200. Find the product of ‘ab’.
(A) 195 (B) 205
(C) 200 (D) 1000
Hod € Aftret ¢ M3 p " HAE. 5 I, M3 AL, 200 J 3 €< Afprat &t g ‘ab’
usT 9|
(A) 195 B) 205
(C) 200 (D) 1000
47. If roots of ax? + bx + ¢ = 0 are equal then the value of ¢ is :
~b b
A) — 1.
(A) 5 ®B) G
-b’ b’
% el &
© = ®) h,
AT ax® + bx + ¢ = 0 € HS ¥I9I I 3T ¢ &7 § for J=ar?
-b b
A) — e
(A) = B) »
B b’
e Tl
© e D) 7
48. What is the value of (=12)3 + (7)° + (5)° = c.cuevuuane. ?
(A) 24 B) 12
(C) 1260 D) 19
oY @) 2By = e TTH® U3T |
(A) 24 B) 12
(C) -1260 D) 19
49. The product of zeroes of the polynomial 4x* + 7 + 3x is
3 3
(A) 7 (B) 4
7 7
b Ty s
© i iD) 4
g 42+ 7+ x e fAgar ST TET T ...
3 3
A iy b
(A) 7 B) 2
7 7
C s i
© 4 D) 2
~ Set'B {M-X1-24} {13}
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56. What is ordinate in P (2, -2)?

(A) 2 B) -2

© 0 D) 4

feg P2, 2) fRe & &t 37

(A) 2 B) =2

© 0 D) 4

57. The end pt. of diameter of circle are (2, —4) and (-3, 1). Then radius of circle is ........

o Rl

(A) =~ unit B) 5V2 unit  (C) 3v/2 unit D) +6+/2 unit

fig (2, -4) 3 (-3, 1) fég To@ € fouwn < fiye fig I 37 Iav e »eu forum fa

dg=ar?
52

(A) Tf\asrre’r ®) 5V2feast (C) 32 feast (D) +642 fearst

58. In figure, find the value of x for which DE Il BC.

@) 4 ®) 1 i

© 3 ®) 2 i P

Had f939 fS9 DE I| BC 3= 3T x €7 H& U3T &4 | & 5

(A) 4 ®) 1 3x+19 3x+4

© 3 ®) 2 y \
59. If 37x+ 53y =320 & 53x + 37y = 400. Find x + y.

(A) 6 ® 7

© 8 ® 9

HIT 37x + 53y = 320 M3 53x + 37y =400 I= 3T x + y UST Fa |

A 6 ®) 7

© 8 ® 9

60. In an A.P. what is the value of first #» even natural number?

n(n2+ 1) By ) ©) 2n (121 + 1) ) n(n2— 1)

e afezd Bt ff9 Bar3a ufasty n famg g3 Aftret e A7 fa 39

A)

2n(n+1) n(n-1)
2 ) 2

Set'B (M-XI-24) (15}

(A) B) n(n+1) ©)

n(n+1)
2
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SCIENCE (fefar’i™s)

61. Which of the following can produce a virtual image? :
(A) Plane mirror (B) Concave mirror

(C) Convex lens (D) All of these
95 fafiont &8 faamr wramit yifee s maer 37
(A) 3w Taus (B) WIS eaya?
(€ €3w 83w D) Gudaz A9 :
62. The number of images formed by two plane mirrors inclined at an angle of 60° of an object placed
symmetrically between mirrors is
&) 3 (B) infinite (©) 6 D) 7

€ M3 SIUE MUK {39 60° T gT T 99 95 w3 fisa g wAg €= I My
gﬁawmlmmﬁvwéﬁ%mﬁuﬁm?

A) 5 B) 3 ©) 6 D) 7
63. The phenomenon of ‘MIRAGE ' is seen due to :
(A) Total Dispersion (B) Total Internal Reflection
(C) Reflection (D) Refraction
‘ﬁﬁrfqaw’mfewﬁéswﬁumah‘r?
A) IFTIe-fedus (B) B HEIST UTTIIS
© uyg=e3s D) »MU=9I3s
64. 1 voltis equal to :
(A) 1 joule/coulomb - (B) 1 coulomb/joule
(C) 1 joule/coulomb? (D) 1 joule-coulomb
1 3BT 9989 T :
(A) 1 F5/I8H B) 1 IBH/FH
©) 1 g/gmH? ®) 1 g&-g&H
65. Which part of human eye controls the light entering into the eye?
(A) Iris (B) Cornea
(C) Ciliary Muscles (D) Pupil
WW?WW%%@HWE@ngWa?
(A) mrfefam B) TF&PHT
(C) frafemat awt D) ys=t
66. What is the value of current (D) in the given circuit diagram? I
(A) 12A B) 2A <
(©) 312A D) 23A = 10
fes rese-fse few a9 (1) = ifs =F) _j_zvmt
(A) 12A B) 2A 1
(©) 312A D) 2/3A 1Q Q
67. Which out of these is not a formula for Electric Power? >
(A) VI ®) V2R ©) PR D) IR?
J5 fafunt <9 faasr femset-mast e o9 =4t 37
@A) VI B) V>R (©) PR (D) IR?
16} {M-XT1-24} Set ‘B
- e
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68. The direction of magnetic field around a current carrying conductor can be known by :
(A) Flemings Left Hand Rule (B) Flemings Right Hand Rule
(C) Maxwell’s Right Hand Thumb Rule (D) Faraday’s Rule
é@—@ém,ﬁﬁamﬁ?hﬂﬁwmﬁs?ﬁ?ﬁiéﬁm
ode J'
(A) eBfifar € ¥¥ Ju fam gmmar
B) eB3fier € AR I8 fawi gmmar
(C) HIAR & € AH I8 WaIsT fswn gmmar
(D) €93 € faswH Twmar

69. Which of the following is not a reflex action?

(A) Blinking of eyes (B) Coughing
(C) Sneezing (D) Writing
fegst <9 fagat fa yfs=ast fafonr sdt 97
(A) Wyt sygeT (B) TwaT
(©) feaer D) feuer
70. Which of the following parts of human brain is responsible for the coordination of voluntary movements?
(A) Cerebrum (B) Cerebellum
(C) Medulla oblongata (D) Hypothalamus
I fefint &5 Wiyt fevrar e faugr g1 fiea faforr=er @ 3w BEt faneg 7
(A) A=W (B) HIEHH
(C) H3®T GEBdrer (D) TEUESHA
71. Which gland secretes digestive enzymes as well as hormone in the human being?
(A) Ovary (B) Thyroid (C) Liver (D) Pancreas
Hoyt fEg faust It uea an € a7%-&7% gons € farre =t gaat 37
(A) #FaH ®B) gfegfes  (C) fAaw (D) %Hr
72. Flow of energy in ecosystem
(A) Uni-directional (B) Bi-directional
(C) Multi-directional (D) No specific direction
ufarfufse yga feg Gerr er y=@
(A) fEa-Unt B) T-t
(C) gg-Udt (D) d€t yH fenr aat

73. In the given food chain, suppose the amount of energy at fourth trophic level is 5kJ, what will be the
energy available at the producer level?

Grass — Grasshopper — Frog — Snake — Hawk

(A) 5kJ B) 50kJ (C) 500kJ (D) 5000kJ

fest aret g% It 99, 8 &6 fa 98 wordt Uue '3 Go7 & wzer 5k 9, 3°
S3urea iue '3 faat Qonr Qusey J=ai? .

Wy — fést » §3 > U > 7

(A) 5kJ B) 50kJ (C) 500kJ (D) 5000kJ

. Se'B (M-XI-24} {17}
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74,

............... is the basic unit of heredity.

(A) Trait (B) Gene

(C) Character D) Cell

............ ngfieaT o gfemret fearet T

A) Ss= B) &

©) = D) A%
™

Which of the following is an example of genetic variation?

(A) One person has a scar, but his sibling does not

(B) One person is older than another

(C) Reeta eats meat, but her sister Geeta is a vegetarian

(D) Two children have different eye colours

st &3 faast wotfrar fissr < foa Quraee 37

(A) ﬁa%éw%,ua@a@éa—w&m‘fﬁ

®) fEa fewast e a5 Qug frg 257 5

© 3™ v =t §, wg O7 & 3= aftsr et 3

D) -'erﬁmﬁeﬂwﬁw@éaréu—éuj%m

The correct sequence for transportation of sperms in the male reproductive system is :
(A) Testis — Vas deferens — Urethra

76.

(B) Vas deferens — Testis — Urethra
(C) Urethra — Vas deferens —>Testis (D) None of these

mmW%Wéuﬁeﬁzwmqn%:
(A) U3¢ — 9T IHfaet - w39 wraar
(B) BITE =92t - UI® — w39 waar
©) YST H'SdT — Fare 2fost - ugs
(D) fegst iS5 3t st
77. Which type of blood flows in the right part of the heart?

(A) Oxygenated blood (B) Deoxygenated blood

(©) Both (A) and (B) (D) None of these
HEHt few @ ¥ iR fé faoar v <fier 37
(A) WIS GII ¥& B) »aHtHs Ffg ys
©) (A)»3 B) &= D) fegst <5 Fet =t
78. Which of the following disease is transmitted sexually?
(A) Kala azar (B) Jaundice
(C) Cholera (D) Syphilis
feaat <3 faast fawmat féait fafomr owmar 2wt 37
(A) BT WET B) utEPwr
(©) & D) frefan
(18) {M-XI1-24} Set ‘B’
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80.

81.

82.

83.

Which one of the following compounds shows endothermic reactions?

(A) NH,CI (B) CﬂCOg

(C) NaCl (D) Pb(NO3),

J5 fefint f&8 faoar tfara v it fafourr eam@er 37
(A) NH,Cl (B) CaCO;,

(C) NaCl (D) Pb(NO3),

How many water molecules does hydrated copper sulphate contain?
(A) 5 (B) 10

<o 7 (D) 2

A8 (Tetsefew) aue neee f&w fdd uet @ wig §e 357
(A) 5 B) 10

©) 7 D) 2

What is the pH of HCI ?

(A) below 7 (B) equalto?

(C) above 7 (D) none of these
HCI &% pH faat get 37

(A) 7 F U B) 7

(C) 7 3 frmrer (D) fegst f&9 aet &t
An Oxidizing agent gives .......... :

(A) Hydrogen (B) Nitrogen

(C) Oxygen (D) Both (A) and (C)
wraaTaa (raHtETEfReEr 89E) ... féer 31

(A) TEEHS B) BTECHS

(C) mrawtwE D) (A) w3 (C) &<

The chemical reaction 2AgCl (s) = 2Ag (s) + Cl, (g) occurs in the presence of which of the following
condition ?

(A) Electric current (B) Sunlight

(C) Both (A) and (B) (D) Both are shiny

I fet fafanr faw &t 3@ f€9 3t 7 2AgCl (s) - 2Ag (s) + Cl (g)
(A) famst gar (B) He# € dmat

(©) (A) M3 (B) €= D) fegst f&9° aet &4t

Find the correct order of metals according to reactivity series :

(A) Iron, Zinc, Potassium, Copper (B) Zinc, Copper, Iron, Potassium
(C) Zinc, Iron, Copper, Potassium (D) Potassium, Zinc, Iron, Copper
fafpumi®ar a3t € »igAe Tt T FAt gH B37

(A) Bgr, faa, UeHbnd, 3tEr ®) faa, 3tEr, gr, U

faer, &ar, ItaT, UeHMM (D) UewHtw, faa, &g, 3T

(M-X1-24} | (19}
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SOCIAL STUDIES (mifaa fefars)

91. When was the first battle of Panipat fought?

(A) 21 April 1526 (B) 21 April 1528
(C) 15 April 1521 (D) 28 April 1529
uetyz <t ufast gt g 317
(A) 21 MUS 1526 (B) 21 MU% 1528
(C) 15 MU% 1521 (D) 28 WMUH 1529
92. Who laid the foundation of Baoli Sahib at Goindwal?
(A) Guru Amar Das Ji (B) Guru Angad Dev Ji
(C) Guru Ram Das Ji (D) Guru Arjan Dev Ji
giffees fedr @@t mfgw &t st fan & St M7
(A) G MHIE™ HF (B) dIg #are €< HI
(C) IIg IHE™ Ht (D) T MIAS ©< Al
93. Who was the founder of Arya Samaj?
(A) Satguru Ram Singh (B) Baba Sohan Singh
(C) Swami Dayanand Saraswati (D) Ishwar Chandra Vidya Sagar
T AT @ Tt de A |
(A) Af3arg a i (B) =9 Aus fAw
(C) A=t ewTde AIA=3T (D) €w=q Jeq fefemr A

94. By which amendment the words Socialist, Secular and Integrity of the nation were
added to the preamble?

(A) 42nd Amendment (B) 43rd Amendment

(C) 44th Amendment (D) 45th Amendment

AAeTEt, gan fsaly W3 IHeY € Mus3sT HEE YAsesT fEw faost Au sidt a3
are?

(A) 42 AT (B) 433t AU

(C) 44T AU (D) 45%F AU

95, Who heads the Council of Ministers?

(A) Prime Minister (B) Finance Minister
(C) President (D) Speaker

(A) yU's w34t B) &z it
(c) FHeIu3T - (D) AdlaE

{M-XI-24} {21}
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96. Operation flood is related With .....cseesesesses :

(A) Flooding in India (B) Revolution in B s
(C) Revolution in poultry (D) Joining of rivers s
Suemsedw ............ &% Hafag 97
(A) 393 f&9 o3t 575 (B) €U G3UES 5B
(C) Wt & Qaures w (D) efewret § 736 578

97. In which country ‘Ruhar Valley’ is situated?
(A) Australia (B) Germany
(C) Japan (D) India
‘T Wt fam & f&w et 3?
(A) MAgfEmr (B) oH&T
(C) AUs (D) &I

98. Where is Guru Angad Dev Veterinary and Animal Sciences University (GADVASU)
situated?
(A) Ludhiana (B) Amiritsar
(C) Jalandhar (D) Bathinda
g WiaTE 8 ITset I AaiEs el gateafiet (GADVASU) ffEr nfag 37
(A) Bftrrer (B) #ifigHa
(C) F¥Ug (D) fézT

99. Which one of the following is not a formal source of credit?
(A) Nationalized Banks (B) Cooperatives
(C) Private Banks (D) Mahajans
35 e (S8 fagar @ua e amit /a3 &t 37
(A) THSAFT & (B) mfgaragr=t
(C) f&#t 8§ (D) HUHE

100. When is ‘National Consumer Day’ celebrated in India every year?
(A) 15 August (B) 26 January
(C) 24 December (D) 15 March
g9 &9 I9 AS ‘THeSt QUSTST fe=mr’ a& warfenr mier 37
(A) 15 »aH3 (B) 26 A&t
(C) 24 A= DY
2] {M-X1-24) Set ‘B’
e —— ; L,

C} Scanned with OKEN Scanner



101. What was the name of Guru Nanak Dev Ji’s wife?

(A) Bibi Rajini (B) Bibi Sulakhani
(C) Bibi Nanki (D) Bibi Nooran
T 5759 = #t € uzt @ ot v At
(A) =Tdt gaat (B) Hidt g¥ust
(C) &t Fvaat (D) st It
102. Faizalpuria Misal is known by what other name?
(A) Singhpuria Misal (B) Shaheed Misal
(C) Bhangi Misal (D) Nakkai Misal
Ermydt e & Ta fam s a7 wfen Aer 37
(A) frung@nr fiums B) Fte s
(C) g3t fumm (D) Eaet fms
103. When was the second war Anglo-Sikh war fought?
(A) 1842-43 (B) 1845-46
(C) 1847-48 (D) 1848-49
TRt w3 it @ gwar oa a@ Sfemr?
(A) 1842-43 (B) 1845-46
(C) 1847-48 (D) 1848-49
104. What is the minimum age to be a member of Rajya Sabha?
(A) 30 years (B) 25 years
(C) 18 years (D) 20 years

(A) 30 AT (B) 25 A5
(C) 18 A'® (D) 20 A%

Who is the constitutional head of the state?

(A) Governor (B) Chief Minister
”) Finance Minister (D) President

v ffeasa it dE gET 37
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1l :::‘:::i the name given to Punjab by Greek historians in the Greek language?
(B) Tsekai
(D) Sapta Sindhu
TN RRATTHEra: & et v R e et et o Rk 37

A) &at
(C)ﬁ?"ﬁ'a"ﬁ-pw (B) AatmT
2 (D) A= fAg

112. Who composed the Zafarnama?

(A) Guru Nanak Jj

(C) Pentapotamia

(B) Guru Teg Bahadur Ji

(C) Guru Arjan Dev Ji (D) Guru Gobind Singh Ji
ABIE™HT fawet gus &7
(A) TG 375d €< Ht (B) g 391 gged Ht
(C) I ars o= (D) g difde fing #
113. Where was Maharani Jindan sent to exile in 1847 AD ?
(A) Delhi (B) Banaras
(C) Mumbai (D) Lahore
Wargret faet & 1847 ¥ &g on foarer @ & fo& 3fmr faprr wt?
(A) fest (B) "&TIH
(C) ¥raret D) &I

114. Who is the Chairman of the Rajya Sabha by virtue of his position?

(A) President (B) Prime Minister

(C) Vice President (D) Finance Minister

m@wmwnwermﬁxétwa?

(A) THEIUST (B) L[fl"?;HQ'aT
() By gmeaust (REEREE]
. The word democracy is derived from the words of which language?
(A) English (B) Greek
(C) Latin (D) French
et 3 ofenr 37

it mue fom I E

(3 Scanned with OKEN Scanner



r?
116. Which sector uses the largest amount of fresh wate

(A) Domestic

(C) Agriculture

(B) Industry
(D) None of the above

foaar 499 79 3 Sy gy yret & =9 gger 37

(A) W3dF (Farfent)
(C) utarst (marfest)
117.

(A) Wind & Coal
(C) Natural gas & Wave energy

(B) W&WMIT (GeTan)
(D) Quaa3 fe< aet st

What are the resources of conventional energy?

(B) Tides and Solar energy
(D) Coal & Petroleum

fa9R me sefest Quar & g ga?

(A) U= M3 Sur
(C) I=at W w3 It
118. What is the full form of BRI?
(A) Bank Reserve of India
(C) Belt and Reserve of India
BRI €7 Yar &7 &t 37
(A) ¥ fomas mre fogtr
(C) ¥8¢ W7 famg= g feshur

(B) A= M3 HoHl
(D) BT MIT USaBIHH

(B) Belt and Road Initiative
(D) None of the above

(B) ¥®< W3 37 feastmefe=
(D) Quiag &< avt =41

119. Who give the definition of Economics related to Material welfare?

(A) Alfred Marshall
(C) A.C. Pigou

(B) Adam Smith

(D) Samuelson

mﬁﬁmmmmmﬁs’r?

(A) MBEIF HIHS
(C) EAt. Uigr

(B) "3H Afdg
(D) AHMBAS

120. What was/were the major reasons to adopt new economic policy?

(A) Deficit in balance of payment

(C) Decrease in foreign exchange reserves

(B) Hike in inflation rate
(D) All of the above

&=t mrafed 318t § nue@e & fifd iy a9 &t Hi?

(A) FIIE H3BS g wrer
(C) feewt Hear 9579 & wrer

(B) HedT ARt wt wy fég =rgr
(D) SudaT Ay

{26}
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BRI W vy 352 o

PUNJABI (yarst)
2 URsT & @39 feb :
Ivaar Weud |
67 51 1 ey o210 353w @ o gt e @ figt R et et 3,

283 fome . =5 ST feT aries @ faaras wir S Faet § 3t 3
58 TUT foyrs T 18T 3] X 4
J, AuT fege ﬁa'a'\e S8 I 39 fireat &t S5 &) IAET BW IBI T HATET
gt <+ 3 S 52 I5 fagt & ot FwraT et o WSt fw wwge ot
\. ET e fa?;'rm S R i b G

gngﬁﬂgguﬁlwméﬁ%mﬁfé?wmﬁwwélqgﬁm—wﬁv

m,rmvrz"" ’W,@ﬁsw,w-éww@mﬁsﬂaﬁmm
St s W,Wwyﬁnfm—eﬁvﬁ@awfeﬁﬁwwq
mww'l“ﬁ"”'?F-Waﬂavﬁégewmn“w#ﬁwézw@?
Boret m s 00" f faea der 31 feget weTee afed ot waret =

T YMREMHI & 3fdt mt g wet 31 aewt @ wew fod-fad 39 w3 3¢ 95 13
SI6T € HS g JE 3w @ g & a4t Yo €t Ao Hidar-rRaT 9= G 9
Wﬁgwaﬁwﬁagaﬁféa@gﬁﬁw@a%ﬂwwmﬁaaml

121. e © B2 f63-faT & W §@ 95 fa GUat @ 7B & AW .......... <t aat gerer?
(A) HG € 9o B) fiss @ g
(C) €t & gny (D) AR

122. ‘I€t AE® Hidar-AAgT 572" Qo d9 ur 5%’ | = 9 sald Hew &9 fan feman-fés
o 93" It 37
(A) A=Zat (B) 3H (C) T (D) f&et anr

123. faeait fég fagt Hfawt fee = g9sT g<ter 37
(A) 883 © Hfat ‘g (B) A& & Wfamt g
(C) IFaE T Hfer™ 9 (D) Hidaet < Hfert g

124. A8 3 aivst aet faaar 37

N ter  (B) FEUT (C) WWUSE (D) Qudaz A

| 125, ‘Fav e faw yae € 5T a7

: (B) H™H &<
A) M &< ( ,
EC;WWW (D) feds =99 st=
il ?
. Sa fan 83 € HEeT 3 .
B st o (B) arHes & (C) g =T (D) fiz® er
=) IATTT AT 97
(C) Uget (D) faesit
d= Jer a?
(C) Ad'S (D) BBt
(C) M= (D) =Jgt
gt =e3 get a7
(C) ar D) T
{M-XI-24} {27}
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131.

132.

133.

134.

135.

ENGLISH (warast)

Fill in the blank with suitable non-finite verb.

...................... tobacco is bad for health.

(A) Chewing (B) Chewed

(C) Chew (D) Chewness

Choose the correct passive voice for the following sentence.

I’ know him.

(A) He is known to me. (B) He is knew to me.

(C) He is known by me. (D) She is known to me.

Your cock and bull story proves nothing. In this sentence ‘Cock and Bull Story’ means :
(A) False story (B) Difficult story

(C) True story (D) Easy story

Choose the correctly punctuated sentence from the following :

(A) Mr. Sharma who was sitting behind the desk, gave me a big smile.
(B) Mr. Sharma, who was sitting behind the desk gave me a big smile.
(C) Mr. Sharma, who was sitting behind the desk, gave me a big smile.
(D) Mr. Sharma, who was sitting behind the desk, gave me a big smile ?
Choose the correct sentence from the following :

(A) She has left yesterday. (B) She left tomorrow.

(C) She had left yesterday. (D) She left yesterday.

Read the following passage carefully and choose the correct options for the questions (136-140).

The walnut tree produces wood that is used for countless purposes, and is considered the finest
wood in the world. The wood is easy to work with, yet it is very hard and durable and when it is
polished, it produces a rich, dark lustre. It also shrinks and swells Jess than any other wood, which
makes it especially desirable for fine furniture, flooring and even gun stocks. In fact, just about
every part of the walnut is unusually hard and strong. The nut of the tree is encased inside 2 very
hard shell, which itself is enclosed in a leathery outer covering called 2 husk. It requires rea] effort ‘%
break through those layers to get at the tasty meat inside. Yet every part of the walnut js Bl
people. The outer husk produces a dark reddish stain that is hard to remove from the hands of the
person who opens the nut and this pigment is widely used in dyes and wood stains, The inner shell
is used as an abrasive to clean jet engines. And the meat of the nut is extensively used in cooki e

ice cream, flavourings and just eaten raw. Walnut trees exude a chemical into the oy n(300 thng,
roots which can be poisonous to some trees and shrubs. Fruit trees, for example, will not ::rw v:;;

planted too close to a walnut. Many other plal.lts., su(fh-a.s maple trees or vy, are
walnut’s presence and are well-suited to grow in its vicinity. vy not affected by the

{28}
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‘ﬂ'efmowmgisNOTafeatureofawalnmn'ee"
(A) Tthas the finest wood in the world.  (B) Its wood is hard and durablc.
(C) Its wood shrinks and swells more, (D) Its wood produces rich and dark 1115‘1""

What do we call the leathery outer covering of the nut?
~ (A) Hard shell (B) Husk
(C) Dark lustre (D) Pigment :

(A) In cleaning of jet engines (B) In cooking
7 (C) Inflavouring (D) In dyes and wood stains
3 Which trees are not affected by the poison produced by a walnut tree?
(A) Shrubs (B) Fruit trees
(C) Maple trees (D) All of the above
What does the word ‘Stains’ mean?
A) Supports (B) Sports
; C)' Spoor (D) Spots
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141, ‘HiE ST gerat w gt 3d G4 )

(A) 78 o2 w @) & I
frofefias TaEivr =t Yt AU g SgaSica
FA HA AFE F, oA sid go |
W e 94 9, fga W wa FEEn
T 7 & F9 91, St S =R
4 Bt F18 H1, 98 7 T IR
TR g9 d 9 e, a9 59 AREE |
af dia 9 | fae, 99 g9 IeE 1
142. FeR e T @ =R oo T A E N
(A) wwEt ®) a4
(C) rerdt o) F=
143. W13 91X &1 A4 ¥ -
(A) F92 ®) FfEE
(C) @t (D) sR-sR
144, &8 a=F ded @ THS AT SREE B v fEa S Hwa 87
(A) diaa (B) I _
(C) 3wH (D) FI=E™
145. ‘U’ Y& T Qg K ¥ - SR
(A) W ®) ¥
© s
§ 146. ‘9T’ vIs% W wEl wiu-fa=eR fawmew
(A) WET + ¥
| © W& + W ;
} 147. ‘QuTET’ IR T W wEigar o
|

&)
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